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PHYSICS

1. The liquid used in clinical
thermometer is

1) Water

2) Alcohol

3) Benzene

4) Mercury

2. With respect to waves '?\'
represents

1) Frequency

2) Wave length

3) Velocity

4) Amplitude

3. Heat energy of an obiect dePends

on its particles

1) Speed

2) Number

3) Mass

4) Allthe above

4.'lf an obiect moving with a uniform

velocity of 10 ms-1 lor2O seconds,

then its acceleration during

20 seconds

1) 10 ms-'

2\ 2 m{2

3)0
4) 0.5 ms-'

1. drdrseo$ sodd:oddd$ u$fod dd
dS)

1) Oed>

2) tid.o*e6"ef

3) e3odeif '
4) auoddB

ddodrlei{ iouoQedod' I'io*ed$
EsoQrDdub flr
1) ddorl udrpV\
2) ddcrl cti\J
3) ddorl derl

4) ddorl uod

3. a.oc$ tt'g&d w{dfloherdeoDd
Erancb$d: u drgadgd)d dmrl$

di * epodd *eei ed:p"d

1) xd
2) ioaS,

3) o-og

4) abeod aq

4. 10 ms-l atdod derfde] a.od:

dlgd 20 f*odrldddfl elOadd'

q, 20 ltodrls qrdQo$g dnlad

de*ned*dr

1) 10 ms-'

2) 2 ms-2

3)0
4) 0.5 ms-'

qPdvo!"
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5. The S.l. unit of momentum is

1) kg ms-'

2) ms-l

3) kg ms-'

4)'ms-2

lf two bodies of equal masses move
with uniform velocity of ,V, and .2V,

then the ratio of their kinetic
energies is

11 1:2
2) 1:3
3) 1:4
4)1:1

The type of mirror used in solar
furnace is

1) Plane mirror

2) Convex mirror

3) Concave mirror

4) Concave tens

The bottom of a water tank appears

to be raised because of

1) Reflection

2) Refraction

3) Dispersion

4) Total internal reflection

8.

rtililllllltililillllililtiltffit

5. ioderld oodoogeo$ ubostrod

1) kg ms-'

2) ms-1

3) kg ms-'

4) ms-2

6. iub cngo$o$ od& drgddr v rrre
2v edd/od derldO eiOxbgdd,

el$rl$ aie.:dU!o$ er&Eood

1) 1:2

2) 1:3

3) 1:4
4)1:1

7. fad $e,lc*rl$g a^l$ipd ddreo

1) xilge od5Fso

2) .led ddreo

3) 0ab4 ddreo

4) 0ab4 $nrad

8. a.odc Oedc dco&d:d dou$o3:

d$aprld $eei uodod uosoe) uodeo

1) gi8fie.:d

2) dEeqJdd

3) deoradasd

4) nodBeor erodod d.9#ed
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9. ln which of the following sound will
not travel ?

1) Air

2) Water

3) Vacuum

4) Solid

10. The potential energy of a body of

mass 2 kg kept at a height of 10 m

is [g = 10 ms-2]

1) 100 J

2) 200 J

s) soJ

4) 150J

1 1 . ln the following materials which one

has highest density ?

1) Water

2) lron

3) Hydrogen

4) Mercury

12. The displacement of an object

which moves one complete round

in a circular path of radius 14 m is

1) 0 m

2\ 14m

3) 28m

4) 88m

r llllllll llll llllll lllll lll ilil llll

gqd * Ssnd o$od)ddg

SFroUaoir:oog ?

1) roe

2) Oecb

3) Oaord

4) dd drg

2 kg qi,aSocrogo$dcd aJSSddcu

10 tucr3d o$ddQtsgrl e* drgad

8qd4 dg [g = 10 ms-2]

1) 100 J

2\ 200 J

3) 50J

4) 15oJ

11, * *$nd trgilqrg ecee de^{ :coogid

doo6drd di)
1) &ecb

2) dz,3eo/ .\a

3) a;oadd

4) amddi

L

10.

12. a.od> dtd 14 m g%d {Emdd
SCdg e.ocb {Beor fod3 afOadd

eldd xod*eu
Q.a

1) 0m

2) 14m

3) 28m

4) 88m
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CHEMISTRY

13. An example of chemicat change is

1) Rusting of iron

2) Magnetizing of steel plate

3) Melting of iron

4) Cooling affect produced by ice

14. Balanced chemicalequation is

1) A/ + Clr_> At}ls

2) ZAt + 2Ctr*> zAl}ts
3) 2At + 3Ctr_+ 3A/C/,

4) 2At + SCtr_+ 2AtCt"

15. When sulphur is ignited in air on a
metal spoon, it burns with
following colour of flame

1) pale red

2) pale blue

3) pale green

4) pate yeilow

16. !n industries synthesis of ammonia
is done by

1) Carl's process

2) Loranz's process

3) Haber's process

4) Newton's process

Iilil!iltiltlillil ilililtillttfl

dxoo$dyo!
-D.

13. ooxi-oo$Od udsoddrl erucroddd
1) daleo d>E &aobdur)

e^6*d fie"tdd$o
rooBeo3rrlopxbdcb

dQr d.)xbdcb

z',)

3)

4) a,J.pr&od dq&eob doraou3r

lDdnh,l,cbd ooxoo$S* !&peddro

1) A/ +Ctr-+ A/C/.

2) 2At + 2Ctr-+ 2AtCt,
3) 2At + SCtr-+ 3A/C/.

4) 2Al + 3Ctr-+ 2AtCt,

rloddd SGo$rb4 a,.,oub e^iul>?^ldO

drld:dood: rogo$O elJO,$cJ,orl

ucbd cAeSo$ a^lg

1) .Be Eod

2) ge &ee)

3) .99 dllcb

4) .Ae dgo

ooa:ordrlgO epdneso$ doirooxbd
coos

1) uoelrd apad
2) einooofd aqnd
3) dea^.rcnd agrs
4) drad8&dd aqnd

14.

15"

16.
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17. The process of transferring of

electrons is

1) Repulsion

2) Oxidation

3) Reduction

4) Attraction

18. The common element present in

bleaching powder and common

salt is

1) Aluminium

2) Sulphur

3) Chlorine

4) Manganese

19. This is used in the sugar industry

to remove colouring matter from

sugar

1) Carbon-di-oxide

2) Sodium carbonate

3) Chlorine

4) Sulphur-di-oxide

I llllllll llll llllll lllll lll lill llll

drnrouxbd d,gob

18.

17" ee3gabrfS$o

1) eEdrd

2) wd*dreo

3) erdddreo

4) uEdrd

aler:d *)A *q xod;od, w{

e$rldQ&d xoduodo Wad>

1) ele.:rra;e&oJ:o

2) rlodd

3) Egeoo"

4) doroilCIexi"

.46dt. 5d,d rOavordrvo 56,d'c(d.4U

DSOd6b. ddose,:l uq$aod
fa c( .,t

1) .aonood-dr-uflra"

2) d.oeco$o aoaSordettr

3) S.geoor

4) rloddd-dr-uflrre"

19.
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20. Sodium bicarbonate is used to

prepare

1) Lime water

2) Rose water

3) Salt water

4) Soda water

21. Animalfats orvegetable oil is used

to prepare

1 ) Coal

2) Baking soda

3) Coke

4) Soap

22. Sodium and potassium are
preserved under

1) Water

2) Salt water

3) Kerosene

4) Sugar solution

23. Water gas is the mixture of carbon

monoxide and hydrogen in the

ratio of

1) 3:1
2) 2:2
3) 3:2

4) 1:2

rilililrilrilflililillilllill

20" f.oe EoJ:o a$raatorde*d:o ..add

goiroo*o$fl u$foogd

1) fcqd Oecb

2) doer &ed:

3) e,DQ &ed:

4) doecoa &ecb

21. a3d *ro&:B oCE o iira;d, dretood
.ad$4 do$Eoier) erudoloenfoBd

1) dOd sr/ (-)O

2) eldrri doeao

3) E.oeu"

4) xoe^roat>

foeBoico dcd: {oumoeoS:o
elnedrl$$u eddO d::$:nluJ&qd

1) &ed:

2) erDQ &ecb

3) ,led:a{
4) nddd 69dto

a;so&e$ rouror dnoofuae &q
drdgecsif eloerl$ eldcrodd
aDgiroEDn&gd

1) 3: 1

2) 2:2
3) 3:2
4) 1:2

22.

23.
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BIOLOGY

25.

An animalthat can be grouPed with

whales, according to the modern

classification

1) Shark

2) Dolphin

3) Seahorse

4) Tortoise

The correct combination of

scientist and the kingdom created

by them among the following

26.

1) Copeland

2) Whittaker

3) Linnaeus

Mycota

Protista

Plantae

4) Ernst Haeckel Monera

The component of the animal cell

that helps in the rePair of bodY

parts

1) Ribosome

2) Centriole

3) Lysosome

4) Mitochondria

24.

25.

26.

llilllllllllllllllllllllllllllllll

dedvolI
qido0d dnre ddeod dmd &
a3rdobd:o g&Doned dJod rbo6

doAiDd)ut)

1) uoarr

2) c@qo"

3) ddor&dd

4) ud>

A@i) d>d:^ eldd: d,**a xod8%6qr

loojtod dnooord*

1) tneufenrod * dortoeuo

2) Dd€Ecf {gesxg

3) Odeo$x" ii,

4) erdr{ dEef - doncn

ao0flo$rod ded ePrldd:o

iodatDd u3r6*oedd drit

1) dra,loe*oedtr

2) do$|oloeef

3) e3rf,oef,oedf,

4) d),0,1neaooB,o3ro
'g)J
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27. ln the digestive system of
cockroach the part that acts as a
grinding chamber

1) Crop

2) Hepaticcaeca

3) Gizzard

4) Rectum

28. The functional groups present in
amino acid are

1) AlcohotandAtdehyde

2) Amine and Ketone

3) Carboxyl and Amine

4) Ketcne andAldehyde

30.

The Earth's atmosphere changed
into an oxidizing type due to
appearance of the following

1) Bacteria

2) Virus

3) Bluegreen algae

4) Yeast

The living entity that cannot be
included either under Prokaryotes
or Eukaryotes

1) Virus

2) Bacteria

3) Amoeba

4) Chlamydomonas

27. dd$ob deraororl

*,nedo$od roo$r

1) dga"

2) duon:f:red

3) Axcorr

4) rbdoos

Iilrilfiriltiltillililil|II

{n aag d83d

0dr6'lod ernrl

28. erdrrdne u{rl$Sd:d goto
rbodlrl9l

29.

30.

1) ueJ,o*eaarf rfrq oqd.Jrr"

2) e)dJelil" dJA So3roedf

3) rozrori*f a$q etd>ro"

4) Sa^lJaeof db* uQdrctr

dr d$nddrlg erurlabaod a*1n&oojr

aosaddrod erud+dr8 OeSrl

?J6eroo3D5)

1) amseooXn

2) deJdx,"

3) &eOd,lcb drde-:

4) olce{

@e aooin e tFrl$e4rlO eeCEro

o$o roo olo e t sr rl gcrortO * o rl s6iero rl d
dedod deo

1) deidxo

2) amseooJm

3) erareeca

4) qatdoedoanxi"
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31. ln the initiat daYs of Earth's

formation, the lighter elements

distributed in the middle laYer

1) lron and nickel

2) Hydrogenandoxygen

3) Carbon and zinc

4) Aluminium and silicon

32. The conect matching of anorganism

and their scientific name is

A. tlog 1" Naia naia

B. Man 2. Canis familiaris

C. Horse

D. Cobra

3. Equus caballus

4. Homo sapiens

1) A-2,B -4,C-3,D-1

2) A-3, B- 2,C-4,D-1

3) A-1,8-4,Q-3,D-2

4) A-4,B -2,C-3,D-1

r llllllll ilfl llllll lilll llllil llll

31. Cneoo$ dagdo$ a3doqJd doddQ

*freyoif deJ doa3d.oend daab

aFdd Oo&rl*c

1) dzgeo "bdl etef

2) dddgeasif d:Q ufla;o"

3) a'ozurf ab6 nd)

4) oe.:.ora:&o3:o 6bE xrOuao"

32. dearl$ drdl o$rl$ d,rryd dlod

IOoJyod d.rorrel'ordt

A. uoo}> 1. oosi 6nai

rstodd. 2. ror&xie deDOo*toOxr

$&d 3. *gxe roozroerxo

mrldaoo$ 4. d..oedne i.loSq

1) A- 2,8*4,C- 3, D- 1

2\ A-3, B -2,C-4,D-1

3) A-1,8-4,C-3,D-2

4) A-4,B -2,C-3,D-1

B.

D.
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33. Food crops are grown along with

leguminous plants to enrich the

soilwith

1) Phosphorus

2) Potassium

3) Nitrogen

4) Ammonia

The widely accepted sysiem of
classification was proposed by

1) Copetand

2) Whittaker

3) Ernst Haeckel

4) Linnaeus

35. The function of lipids in human

body is

1) Bring down inflammation within

the body

2) Helps in_ the metabolism of

carbohydrate

3) Promotes skeletal growth

4) Regulate fluid batance in our

body

12
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33. saad qpdrrlCooDrl e,

Bidd$$4 aidobddood

rbr&odxP

*sddO
t0 P'

o$dJ"

34.

35.

dugrbd elod

1)

2)

3)

4)

doagE

€Pmo&

d6o3gea;

erd.oe&oJro

urorddason eoneEoiluoa dnr€Edra

dgeo$nb4 5e$e,16eid)
1) roeareoorew

2) *;deEcr

3) erdrx" 6Eer

4) Odeo$lf

dJodd deddO O&G6rlg roo3:r

1) dedd z.$ri eruoo$radddb4

Ea$ diodgd

2) uoaSordr@eurne aioJrodzso$

Eo$o$g iaooJ: dFd)gd

3) dlo$il$ dqdsdrio$$4

erudedlodd
--0 -0

a) dedd ddd$i id:d.oee.:ddg

"adJ{d
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HISTORY

36. The important cities of Harappan

civilization are

1) PataliPutra, Mohenjodaro,
HaraPPa

2) Mohenjodaro, HaraPPa, Nalanda

3) Lothal, HaraPPa, Ujjain

4) HaraPPa, Lothal, Kalibangan

37. The statement which does not

belongs to 'The Vedic Age'

1) The most ancient Veda is
'Rigveda'

The Vedas were in a written form

from the beginning

The tribes named Bharata were

called themselves as ArYans

during this Period

38.

4) The Performance of Yagnas

f ound in Yajurveda and

Atharuanaveda

Read the following sentences and

choose the correct alternate :

A. Ancient monuments enable us

to know about the civilization,
technology, social and
economic conditions.

B. The first Kannada inscriPtion
Halmidi belongs to MaurYan

dYnastY.

1) A is true, B is false

2) A is false, B is true

3) Both A and B are false

4) Both A and B are true

e96?i

36. dd{ asorloddo$ dd'sD drtdrld:

1) mt:e)e d)g doedod'oesodoe'
J-a-?
@\J c^'

z1 doelod.ooodoe, dd{, a3$od

3) eloqoef, dd{ ' w{*ld
4) ddd, e3oqaef, roOuorlo'

37. *snd aadrdsfl
iouoQld ;rod,

1\ eod od ddcir

'dedrls roe$j

1) etdrod ddc$ ded '".librled'

2) dedrisc agdoaPaodqo e)sDd

dnddgqd
3) dr r-ood zidd aoal e;rdde'1

esotoorlddd; do6ddg d$J${
eso$r& oocb ddc$EnodC

4) cJ:rOd &o$abd$) oSoa;ld;-td

"bE elfrdrro dedd*eJ

dodrard:dd'

dsnd rodrdsdl t^,o, iooirod
uo$*o$&o rb&94 :

38.

cJ.

3)

4)

uga3ed aisoddd xonddrlgr oorlodd,

Aoa,asg5S, :iodndd d:E elQrd_) €p

,$goS&o g goboD taaoS>d;mnd'

ddrdd dode; Yond deoa

dPotrr dlddd** ieoognd.

1) a io,,s ddJ

2) a d{, s3 io
a d:dr

as6
zr add.o d{

?) addro x0

I ffi lllll llll llllll lllll il llll llll
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39. A scientist who was famous as
'Father of lndian Medicine, in
Gupta's period

1) Sushruta

2) Varahamihira

3) Dhanwantari

4) Charaka

40. Pushyabhuti : Vardhana King : :

Pulakeshi :

1) King of Chalukya's
2) King of Gupta,s
3) King of Kadamba,s
4) Krng of Ganga,s

41. The language which was developed
during Roman period was

1) Latin

2) Greek

3) Portuguese

4) Spanish

42. Match the following and choose the
correct alternate :

A. Greeks

B. Aztecs

C. Mayas

D. lncas

1. Tupac

2. Steles

3. Tenoch

4. Tyrants

1) A-4,B--2,9_3,D_1
2) A-2,8-4,C-1,D_3
3) A-4,B--3,C_2,D_1
4) A-1,8-3,C_4,D_2

14
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41.

39. 'ayoddd drdruo$d &soubd' oocb

EFquoo rDE-o roeal Aoso0J e r- :--A'
1) dr€d
2) doadtubd
3) fi{cdo
4) aJdd

40. *t*5etn9 : dCrd croou : : ge.:teS :

1) z,ne.tldrd drad

2) r${d o'oa3

3) Edoud ooes

4) rlorld CrDd

doedls,d t*9odoJ: uoectO
spddqdDd eilod

1) en oJif
2) lero
3) dBealrfle:;r
4) e,Pa"

* dgndaurf gdcu doooarorl
lOdroocbd !,nei :

$ed& 1. tiJodd6r

ec{B& 2. {ore
dmobqd, 3. rJ$oe?,sr

Eouorlgt 4. E dot"{

1) A-4,B_-2,C_3,D_1
2) A-2,8-4,C-1,D-3
3) A -4,E-3, C -2,D_1
4) A-1,8-3,C_4,D_2

A.

B.

c.

D.

www.InyaTrust.com

www.InyaTrust.com


sAT(K-8)

zB. The first dynasty that established

in Karnataka is

1) Shatavahanas

2) Kadambas

3) Gangas

4) ChalukYas

44. The work'Gaiashastra' was

written bY

1) GunadYa

2) ChavundaraYa

3) Durvinita

4) Sree Purusha

45. The chronological order of the

following is :

c.

d.

1)

2)

3)

4\

MahapariNirvana

Collected in TriPitakas

Enlightenment of Buddha

Dharma Chakra Pravarthana

a,b,c,d

d,c,b,a

c,d,a,b

C,a,b,d

a.

b.

43.

lllllllll lllllllllllllll lllllllllll

doorulddeJ m*ddrlood dodel

cross#od q6"Rd

1) uodaaddd)

2) ddouct:

3) rlortdl

4) zme.::E d>

'rlcsuoli, dr.9o$ dSrr

1) itmofr,

2) zododoool>

3) d)ar&ed

4) ged&d

d qr n d ai; zl9 dco ra eto d: $dr d O-

d.o,eBarorl iodnoubd ioal :

c.

d.

1)

2)

3)

4\

a$aodO Oaroreo

.9,&sdrtgee tgeBeddeo

aodd q$oedo3r

dd)r csg gddtd

a,b,c,d

d,c,b,a

c,d,a,b

C,a,b,d

44.

a.

b.

15
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47.

1tililffrililillIIffiililililt

GEOGRAPHY AN D ECONOMICS

The boundary that separates the
mantle from the core is called

1 ) Gutenberg discontinuity

2) Mohorovicic discontinuity

3) Asthenosphere discontinuity

4) lnner core discontinuity

The hardest rocks on the earlth are

1) Sedimentary rocks

2) lntrusive rocks

3) Metanrorphic rocks

4) lgneous rocks

Construction of Koyna clam in
Maharashtra became a cause for
this naturaldisaster

1) Volcanic Eruption

2) Tsunami

3) Coastal Erosion

4) Earthquake

Greenland and Antarctica are the
best examples for

1) Continental glaciers

2) Valley glaciers

3) Moraines

4) Lagoons

?irori/oe$ u$q

dmrouer ubdl deogi rbesd;bu
a,3edr&$d 1160$$4

1 ) n'c o3 o. D n'r xr e duo d e.: oJ;
ad:odcb

2) drad,Jadoea:rf de,:o$ aab*dd>

3) 9enaaE de.:o$ a$ndd:
4) e.$rtoe$ de;oS: aab*dd>

qlloADo$ d>eOd eldrod d0eo beirl$c

1) Eeo Aejrt$c

2) elodideo AeJrl$t)

3) doaaodd 9eJrl$lr

4) e\ aeJrl$,r

46.

47.

48. 48. dcaooo$d doo3:oo elrddufo3:
&d.rorrod; * ddre &doedt*
aodeoryoobdr

1) agenilsDo$ fu"eo^t

2) XDoDA)

3) dde-r Aradd

4) qJ,oEod

49. flexfen-.ocsr E$6> co0yoArr" qcJf,J ?) -o - ----d3- -- ' t
ertg;f, erucaddd

1) $oa-oodd ed:do
2) dsdd &$da
3) 9enOe3o1>

4) e-:r(oofrlvt>

16
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50. This tYPes of sPrings are found

more in Australia
1) GeYsers

2) Artesian wells

3) lntermittent sPrings

4) Hot sPrings

51. This figure rePresents

1) Planetary winds

2) Trade winds

3) AnticYclones

4) CYclones

52. The clouds that causes heavY

rainfall and snowfall are

1) Stratus

2) Cumulus

3) Cirrus

4) Nimbus

53. Afternoon rains are mostly found in

1) Polar regions

2) Equatorial regions

3) TemPerate regions

4) Himachal regions

I llllllll llll llllll lllll lllltllllll

50. u$oo3mdg drsBn ds 
-edd

d;e>d:dec dod:ad:$d
1) z3tu&eod z^n{rl$c

2) u$rlo$o' sro&il$)

3) eo$duood z3od:rl$c
4) ?,ltu&eod z3e-:l$rlq;b

51. * 8^3gd nJoas$dd)

53.

52.

1) 0dodd dro$drl$o

2) aaCx, dlod:dd$r

3) qiaorddr drod:drl$r

4) uddr dmd>drl$b

d4. *€ dr* b$d:$3o$&4 d&d
doEarle:
1) ddd: doedrlsio

2) o?A doedrlq;b

3) ba3rdco doedrlq;b

4) ooAdr.\ d'oedrt$.:

'elduodu *€' d?"rzron do&u&$d>

* $dedd$
1) Od SideddeJ
2) n$qnuddr{ Sidedde}
3) idrsea"r* 6ideddeJ
4) bdmz3e; Sidedde]

17
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54. The correcily marked directions is

NW

1)w

sui/

2)s

4)N

NE

E
L

SE

NW

-N

EN

5

W

E

o

18
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54. BOoJron A$,rlS$, rbdreacbd e3$

2)d

d

ef,)

d;r

(^)

El)

dla

SE

3) E

zsw

-W
NW

*

dp
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55. Agriculture is the best examplefor

thetype of man's economic activity

1) ConsumPtion activitY

2) Exchange activitY

3) Distribution activitY

4) Production activitY

56. The lndian scientist who was

awarded Nobel Prize for leading

international team on the inter

government Panel on ctimate

change

1) Sir C.V. Raman

2) Rabindranath Tagore

3) Angsen

4) R.K. Pachauri

57. The best examPle for

resources is

1) Coal

2) Gold

3) Solar energy

4) Petroleum

renewable

55.

I llllllll lllltlllll lllll lllllllllll

"drdx-ooJlaU' droddd e'Ord

r^tt"udt^gfrl$ * adf+ e'r:963'

ero.toddddsond

1) e$q3loen ?St^lld[^3E

2) ADabo$ zSuDdt^38

3) egdd zdurdu:E

4) wogdd z3t"l:dt'38

56. deiorbeo uderodt{ dleOd elodd

iooro 'dodd' dr:ocmddo dbr,

dnea,3ef gi61 ddd qroddd sasgp

1) xd tu.&. irod)Nr

2) deieoqiooqf G'Ertuof

3) elortieif

4) ud.6. dufdo

57. *)no$d ioddone.:rl9ll..4& erugab

erDdodddormnd

t ) deJde-::

2) ?3d4

3) #ddq

4) dr,lgeOc$o

19

www.InyaTrust.com

www.InyaTrust.com


sAr(K-8)

58. The ancient Greek philosopher

recognised as ,.The Father of
Political Science,,

1) Socrates

2) ptato

3) Aristotle

4) Homar

59. ln lndia the Citizenship Act was

passed in the year

1) 1950

2) 1e55

3) 1e76

4) 1eB6

60. I was born in lndia and my parents

ale lndians. The method underwhich

I acquired lndian citizenship?

1) by registration

2) by birrh

3) by incorporation of a new
territory

4) by descent

20

Ifiililtilflliltillllilililtffi

58. *cna;*uof- d &rao;Jcaa. ood.ro :9r

rbgrier*g gased oef dgeF)

1) xo!$exp

2) fler^loe
a-.-.---

g) (eorouerl
\-._gr__,-J

4) doea3:o"

59. WodddO dDdg doox>do$d>, aroorl

Eo6 6Er

1) 1950

2) 1e5s

3) 1e76

4) 1986

60. m& apdsdg 60rcbged. ild dod
aorlo EEo3: epdgeotldc. NDdt)
aedgd dadgd$d * fsnd oJDd

a.ou3: eensa ahned ddad:$e$ z

1) doeodsd ilroed

2) aududdanfl

3) doAS doEidesd ieilrdoood

4) dg iouod/eeabdo$ddobod
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61. Recentlythe officials appointed to

allGrama PanchaYat bY Karnataka

Government through KPSC

1) BDO

2) EO

3) PDO

4) CEO

The minimum age

lndia is

1) 18

2) 20

3) 21

4\ 25

to vote in

63. The Father of SociologY is

1) Herbert SPencer

2) Max Weber

3) Karl Marx

4) Auguste Comte

64. The oldest and simplest society in

the Human SocietY was

1) Hunting and food gathering

societY

Cattle rearing societY

Farming societY

lndustrial societY

2\

3)

4)

61.

lllllllll llllllllllllllllllllllllll

danrued trordd.l'agez3rl doart^ld

elloediea" e.rokoerld tua:oodd $9

n3ab doeroogo9rt deao,:,&d srQroo

1) B D O

2) EO
3)IP n.or

4) CEO

e.rodddel *d

,)E
2)n
3) 21

4) 25

alenoccicd dsd0

64.

63. ndnrm{_d &sod)60

1)

2)

3)

4')

de,rrttrr idd
q) 

^l

dDfi de;d

doefF dro{r
IGAF" 60$r.=_---c.J---,--Q,

drodd ndroa;def eldrod

d3r* ld$;lod idroa

1) aJeCo3;odod dcdg

nolibxi:d trdoes

2) dd:uoooo idroes

3) do.h id;or
4) drrmouo ldroag

ogaled

er 6"d

21
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65. The culture of one society differ
from the other society. The reason

for this difference is

1) Culture is transmitted from one

generation to another generation

2) Political system changes from

society to society

3) Geographical features, traditions

and needs of the people vary

4) Economic conditions vary from

society to society

66. Division of tasks according to skills

is called

1) Labour

2) Division of labour

3) Essentiallabour

4) Division of tasks

lndia adopted the policy of
economic liberalization policy in
the year

1) 1e90

2) 1991

3) 19e2

4) 19e5

67.

22

Itililtililillllilililtilttil

65. a,oub idn6d noig€oi:o abdgouf>

id:oad nodonod edo;mn&dd.

1)

2)

3)

2)

3)

4)

67.

3)

4)

qdtd radmdodd

!o{ stsoS:r e.oc$ &egriobod
eej

ujrd.ood: &€qrirl drrordd
^J- -)- J-.:)
LADOT )J!9(J

-0

cnec6ec$ d.dtojl idaagOodoQ
idmaiE, e;denfld:dd.6-o
qforineed dz3d, ddodd 6?rto
udd errldrrlsb draortranncb{d

4) eigrd ddd4cJ)) Bdoagood
ndJE6E, zodenAd>dd6'r

66. foue;rd qre"dd abeeJ de.:i

CorlGxbgdd:* Boerlocb tdotoEd

1) gd)

\ airu -?wqJceN

d^d d"b
D-J

aoddd

?pddd ererB erucmocddso

OeSo$$o elqldG,t Snod ddr

1) 1eeo

2) 1991

1992

'1995

gab

erd^d

9arr.,l
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68. Among the following countries the

best examPle for entrePot trade is

1) SingaPore

2) lndia

3) KenYa

4) U.S.A.

69. A partner contribute fixed amount

of caPital and share Profits and

losses in ProPortion to their

capital. They take active part in the

day-to-day affairs of the business

is called

1) Active Partners

2) SleePing Partners

3) Nominal Partners

4) Minor Partners

70. The minimum number of members

in co-oPerative societies is

1) 08

2) 0e

3) 10

4) 12

I llllllll ltlllltlll llllt llllllllltl

GB. * dsnd dedfi$O- Odd dd]

aorrod** o$r$d: eroooddd

1) norn$d

2) qmdd

3) 8eao,

4) o$o.ax".a.

69. Orl6d uodarod d,nB&qgd' etoC

d{dddro eld: oadd*d: dr eoaoR

doa3dog:oqd. io{o3r addEo

dEomrc rt$$4 n-go$ aofi dd:,*rc od:

doerbEd. eodd soe.:rnoddd:o ber{

ddol::qd

1 ) !o3o9ee-r aosrrrodd>

2) drJ+ uosrrrodd:

3) Na$dro$ aoe-:lrndd>

4) elagd do${ uosrrroddr

70. i6Eoo xoFilV Sd5sd 5o&t6o5)

de€ eD.g

1) 08

2) 0e

3) 10

4) 12
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MATHEMATICS

71. ln the given sum A, B, C are
consecutive digits, in the third row
A, B, C appear in different order.
The values of A, B, C are

ABC

+BCA

+- - -
1008
1) 1,2,3

2) 2,3, 4

3) 3,4,5
4) 4,5,6

72. The value of

1)2

2)4
3) 16

4)u

98A36 is divisibte by 1 1. Then the
value of A

1)5

2)7
3)e
4)3

Ifiililtfltilililililtiltiltffit

ilsdd

71. .49 *Joti&d dJogdO A, B. C rlg.>oa gJ .-o ?) - -' -,

3ilDrlg spodzlgr, ubodde ecdsoOd$
A, B, C n'9c af e d {,ufl d eJ

uorde*n993-d. aarrodd A, B, C rlgQ-o

aJeJrlgc

ABC
+BCA
+- - -
1008
1) 1,2,3

2) 2,3, 4

3) 3,4,5
4) 4,5,6

1)2

21 4

3) 16

4)u

98436 11

A o$ aid

1)5

2)7

3)e
4)3

Ood a,prlm&#. aomdd

24
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74. Which is the greatest among the

following ?

1).re-fr
2) J0 -J7
3) JTI-6
4) .re-JT]

lf .6 =2.236 and .,fo = 3.162. The

vatueo, ftG ,"

1) 0.45s

2) 0.855

3) 0.655

4) 0.755

Choose a fraction which is

equivatent to f,
{\ 128tt 

1Bo

2) #
e\ 415\'l g2o

/\ 1080't 1440

77. What percent of 8.25 m is 75 cm ?

1) #%
'7tr

2\ i"/"
^\ B0o,c) uro

4) H%

74.

I lllillll llll llllll lllll lll llll llll

.add*9 ofD$Eb udrod dJoqdi ?

1) *s -+g
2) J-g - J7
3) +l -.8
4) .re-JTl

.6 - z.2so ** Jio = 3.162

egdd ry d deJ

1) 0.455',

2) 0.855

3) 0.655

4) 0.755

i { ndndaod Qqc,oa&su
elo\ droB

r\ 128tt 
1Bo

2)ffi
,) #
ar 10.8Q

1440

8.25 m d oQ dedoo 75 cm

ur$$ub z

1) H%
2) #%
3) ff%
4) H%

77.
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78. lt each dimensions of a rectangle
is increased by l00yo,then its area
increased by

1) 100%
2\ 200"/"

3) 300 %

4) 400%

79. The average of first 10 even
numbers

1) s.5

2)7

3) 11

4) 21

80. The marked price of a radio is20%
more than the cost price. lf the
discount of 10o/o is given on the
marked price. The gain percent is

1) 12%

2) 8 "/.
3) 20%

4) 10%

81. The sum of a number and its double
is 69. Which is the number ?

1) 46.6

2) 34.5

3) 23

qn

ItililtiltilIilililtiltilillil

78. e.oub ero$dd 8e eto3roubrlsd:u
de. 100 d*aad. elao

ti

C,:,eeordsorbd d{q
1) 100%

2) 200%

3) 300 %

4) 400%

79. dnde.: d$ iO loa3rrlS icniO

1) 5.5

2)7

3) 11

4) 21

a.oub deGolned duirnB,ld ?ierob)
epBEc siernod 20o/o dug,nd.
dujooo,rrd e^f eJojt dceer"i Oy"
oot oobg Oe6dd, dJodd dedm ero$

1) 12%

2) B%

3\ 20%

4) 10%

e.od> ioa3, u3l* epdd oddddd
dJog 69 erdd u ioa3, oJDdcb ?

1) 46.6

2) 34.5

3) 23

qn

81.

26
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82. lf x2 - 3x + 1 = 0 then the value of

*-1 i,x
1) G
2) J-s

3) J-z

4) 
"6'

tlil. Ramya is twice as old as Sunitha,

three years ago she was three

times old as Sunitha. The present

age of Ramya is

1) 6 years

2) I years

3) l2years

4) l4years

84. The height of a triangle is ! of the

base. If the height isincrelsed bY

4 units and base is decreased bY

2 units. The area will not change.

Then find the base

1) 16

2) 12

3) 20

204)3

I llllllll lllllllffi lllll lll llll ffl

x2-3x+ 1 =0 eJdd x-1 d e^3e,
x

1)G
2\ J3

e\ J-z

4) .6'

dd:o$c, ir&ed9Rod odddd;,
6o0o$Sr. dlro& ddrrt$ bod d*09:

lo 0e d9ft od dlro dddB EoOo$vondS:.

d*6s drnd do$q

1) 6dCr

2) 8 ddr

3) 12dCr

4\ 14 ddr

84. a.odc $Q':ad erou{ urodd

E

3 o*q, o$ddd:o 4 drod de4:,d

d:dg aroddd:o 2 drrod dBd:

dvoGa.orl fle$del udead:{Oe3.

aorBdd uodd erSd

1) 16

2) 12

3) 20

4)+
27
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85. lf 3x+3=9 x*lthenthevatueof xis

1) 1

2)2

3)3

4) 5

86. rhe varue 
"r [(2')']

1) 0

2)1

3) M

4) 16

87. The minimum number of

non-collinear points required to

determine a plane is

1) 1

2)2

3)3

4)5

88. ln which type of triangle, two of its

altitudes are equal ?

1) Right angled triangle

2) Equilateral triangle

3) lsosceles triangle

4) Scalene triangle

[{r')']'
86. [{r')']'- [(r,)']'

1) 0

2)1

3) M
4) 16

ililililililililililililill|ll

3'*?=9x+Ieldd x d a3e,

1) 1

2)2
3) 3

4)5

d sJcJ

a'od> !d:de.:dd:o OCrOier:

erild*erbd id$deanrldde.:d d0{
efot:bzl$ ioa3,

1) 1

2\2

3) 3

4)5

olDd add 9+basag eedd odd>

addrl$c i*aron&gd ?

1) e-rozud.oed gq1>ei

2) iaberoe grfl.*

3) nd:Qemd gqb*

4) eridluod gribo

28
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89. What value of x makes
A

AOB A

straight angle ?

A

(2x + 30)'

1) 30"

2) 50"

3) 49'

4) 60"

A
90. ln the figure PO ll ST, QRS is

1) 30'

2) 40"

3) 50'

4) 60'

I llllllll llll lfill lllll lll llll lil

xd otiod eJeSotD n6e&$o
id$*ne da"nfDd& ?

1) 30"

2) 50'

3) 49'

4) 60'

argdg PO ll STerRd,oAs*nedd

1) 30"

2) 4A"

3) 50"

4) 60'

-B

90.
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lnstructions to Candidates

1. The Question Booklet containing 90 questions and the OMR answer sheet is given to

you.

2. All questions are compulsory, each question carry one mark.

3. During the examination,

. Read the questions carefully.

' Completely darken/shade the relevant oval against Question No. in the OMR answer

sheet, using blue/black ball point pen. Do not try to alter the entry and not do any stray

marks on OMR Sheet.

' Ex: ln a question paper if Sl. No. 3 is correct answer for Question No. 20, then darken

OMR answer sheet using blue/black ball point'pen as follows.

20. e @ O @ (This is an exampte onty)

4. lf more than one oval is darkened for a given question, such answer is treated as wrong

and no marks will be given.

5. The candidate and Room supervisor should sign in the oMR sheet.

6. Candidate should return the OMR answer sheet only to the room supervisor before

leaving the examination hall.

7. The calculator, mobiles and any other electronic equipments are not allowed inside the

examination hall.

8. English version of the question paper will be considered as final, in case of any dispute

arising out of variation in translation version.

dd)pa: inCdld ddd ,*M dt dgso* deso4ndCo^ da:giqqd,
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